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Which of the following statements regarding 40. 
Swachh Bharat Mission (Urban) 2.0 is/are 
correct?

It aims to achieve ODF+ status for all 1. 
statutory towns in India.
It will be implemented by the Ministry of 2. 
Housing & Urban Affairs.

Select the correct answer using the code given 
below:

1 only(a) 

2 only(b) 

Both 1 and 2(c) 

Neither 1 nor 2(d) 

Which of the following statements regarding 41. 
Operation Green Scheme is/are incorrect?

It aims to contain price volatility of 1. 
perishable products by undertaking 
short term as well as long term price 
stabilisation measures.
TRIFED is the nodal agency to implement 2. 
price stabilisation measures under the 
scheme.

Select the correct answer using the code given 
below:

1 only(a) 

2 only(b) 

Both 1 and 2(c) 

Neither 1 nor 2(d) 

With reference to SVAMITVA Scheme, 42. 
consider the following statements:

It is the central sector scheme of the 1. 
Ministry of Rural Development.
It aims to provide an integrated property 2. 
validation solution for rural India.
It is currently being implemented in six 3. 
states only.

Which of the above statements is/are correct?
1 only(a) 

1 and 2 only(b) 

2 and 3 only(c) 

1, 2 and 3(d) 

Announced in the budget 2021-22, 43. 
Multipurpose Seaweed Park will be set up in 
which of the following states?

Kerala (a) 

Tamil Nadu(b) 

Andhra Pradesh(c) 

West Bengal(d) 

With reference to Primary defi cit, consider the 44. 
following statements:

It is the difference between the fi scal 1. 
defi cit of the current year and the interest 
payment made on previous borrowings. 
Zero Primary defi cit can indicate that the 2. 
government has resorted to borrowings 
only to pay off the interest payments.
A low primary defi cit is not good for the 3. 
fi scal health of an economy.

Which of the above statements is/are correct?
3 only(a) 

1 and 2 only(b) 

2 and 3 only(c) 

1, 2 and 3(d) 

With reference to fi scal defi cit, consider the 45. 
following statements:

It is the difference between the 1. 
government’s total expenditure and 
receipts excluding borrowing.
Monetized Defi cit is the part of the 2. 
fi scal defi cit provided by RBI to the 
government.
India’s fi scal defi cit has consistently 3. 
increased since the last decade.

Which of the above statements is/are correct?
2 only(a) 

1 and 2 only(b) 

2 and 3 only(c) 

1, 2 and 3(d) 

In the context of Agriculture Infrastructure 46. 
and Development Cess (AIDC) introduced in 
the budget 2021-22, consider the following 
statements:

A cess is levied over and above the 1. 
existing base tax liability.
The unspent amount of any cess collected 2. 
during a particular year cannot be 
allocated for other purposes. 
The central government is required to 3. 
share the cess collection in a 75:25 ratio 
with the state government.


